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Note : There are THREE sections in the paper A, B and C.

i) AT T X @1 % @t 10 ST % IR AT | T 9 O 3 FE
o Gt 10 ST TEGIE FHR & T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) T~ % 8 T 7 @ forel 6 ¥FI & I QY | IAF T 3 3% 18 v
g1 5 FET / 50 &Gl 7 I AT |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

iv) QA-T F 6 ¥ 5 @ R 4 Tl & I GG | TIF 57 8 3% #1804
s737 15 IET / 150 &Gl 4 37 e |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() Y A7 % Gt XUl H1 FHAR TF H1Y & HIT |
Solve all the questions of a section consecutively together.

(vi) ﬁwﬁﬁmﬁ##@ﬁﬁaﬁsﬁmﬁm?/

Only English version is valid in case of difference in both the languages.

FJE - T

Section — A

1. (i) ﬁuﬁ«if@aﬁéaﬁqqmégﬁa%mg{mmmﬁm% ?

(a) 6 (b)y 2
(c) 4 (d 7
Which of the following can be the factor of safety for a dead load ?
(a) 6 by 2

= (c) 4 d 7
(1 of 4) P.T.0.
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frferiaa & & #1731 guis wimwe =1 v gt @ Frear 2 7

(@) Fof (b) I

(c) Frm (d) w23

Which of the following joins two rotating shafts to each other ?
(a) Key (b) Coupling

(¢) Gear (d) Beltdrive

= 1 3 #17 o1 grafyeE v %1 vE vEn A 2 7

(a) heh TR (b) HRAIHR

(c) rafEeE (d) g R

Which of the following is not a type of transmission shaft ?

(a) Crank shaft (b)  Counter shaft

(¢) Transmission shaft (d) Line shaft
HTITE: Teh el ol 99 % F9 1 HEEd H A AR | -
(a) afemm (b) ferafin

(c) Hof (d) ¥ & Hi$ T
Generally a pulley is fixed over shaft with the help of .
(a) Coupling (b) Bearing

(¢) Key (d) None of the above
form arar giwfufén grea 4 sgys wa 2@ s 2 7

(a) FeZgRA (b) = grEE

(€)  (a) 3 (b) g (d) o & Hr ofr 7
In which power transmitting drive polygon effect is observed ?
(a) Beltdrive (b) Chain drive

(c) Both(a)and (b) (d) None of the above
frafafaa § @ & a1 3= 99 w1 ges 78 2 7

(a) HfEm (b) I

(c) euiFefict geemt d) 3™

Which of the following is NOT a component of a centrifugal pump ?
(a) Casing (b) Guide vane

(¢) Rotating impeller (d) Draft tube

U AYh41 I HIGT H HE BT 2

(a) Bl gQHT (b) & Hl "G

(c) <™l geH (d) 7 gHT

The function of a casing in a centrifugal pumpisto

(a) increase the velocity (b) increase the pressure

(¢) decrease the pressure (d) decrease the velocity
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(viii) foret 3ot weg o e foress gro &t 2

(a) Tt wame am (b) IHATE
(c) IAWERAM (d) Fm=ga
Cavitation in a centrifugal pump is caused by
(a) Low flow velocity (b) High pressure
(¢) High flow velocity (d) Low pressure '
(ix) argsfiet ot gerd () 3 Yignor % feu Iwi foru S a1l SETHR WER ¢
i Td w12 |
(a) VIHTHN (b) WA
(c) eAlfen (d) Trws
Cylindrical storage tank used for the storage of volatile liquids (naphtha) have
roofs.
(a—)_"conical (b) flat
(¢) floating (d) fixed
(x) AT TG U MR % dgd ITA U I ATl g S
(a) 23M4 (b) 438
(c) 8316 (d) g
Factor of Safety used under suddenly applied load
(a) 2and 4 (b) 4and8
(¢c) 8and 16 (d) None (1x10)
Yo —
Section - B

2. FOS®Z 7 GWasy |

What is FOS ? Explain. (3)
3. fiaacasnd ?

What is pinch valves ? 3)
4. 99 qATE i ey R 7

Why is stress important in shaft ? (3)
5. WigaE o @ ?

What is torsional stress ? (3)
6. ot wofva <Bif |

Define keys. (3)

7. eEEUA R ?
What is pressure vessel ? 3)
P.T.O.
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8. Tl o e i sre i |

Explain Rotary Vane Compressors.
9. frod bt ?

10.

11,

12.

13.

14.

15.

What is reserve factor ?

e —

Section - C

FAH FHYfAT I FHHTIT |

Explain clam coupling.

Tl % fafim wer @ & 7 Jwsmsu |
What ae different types of pulley ? Explain.

BIfeeT =4 grga w ==t Hifag |

Discuss Hoisting chain drives.

gy i fafsrear auzmu |

Explain specification of pump.

IyaRtvn & fesmea # fesiga afcias &t @ i ardt 8 7 wwemse |

Discuss role of design variables in equipment design.

TEY § wHgT
Explain in brief :
(i) R

Gauge hatches
(i) I dred

Plug valves
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(3)

(8)
(8)
(8)
(8)

(8)

(4x2)



